   int  rval,samples,chi,dio,adc;

   char data[1024];
// must be large enought to hold all discovered nodes

   char *ptr;

         printf("Discovering Nodes... \n");

         xb_atModeOn(1500);

         waitfor((rval=xb_getND(data)));

         if(rval>0)

         {
printf("  Found nodes:\n");

         
ptr = strtok(data,"\r"); // first call to strtok needs buffer

         
while(ptr != NULL)

            {  
printf("  MY: %s",ptr);

               
printf("  SH: %s",strtok(NULL,"\r"));

         

printf("  SL: %s",strtok(NULL,"\r"));

         

printf("  DB: %s",strtok(NULL,"\r"));



printf("  NI: %s",strtok(NULL,"\r"));

               
printf("\n");

               
ptr = strtok(NULL,"\r");
// see if there is another node

            }

         
printf("End\n");

